
Documentation of Projection Tool (Zukunftsrechner):  

(Not) Thinking about the Future: Inattention and Maternal Labor Supply 

______________________________________________________________________________ 

This file documents the online projection tool „Zukunftsrecher“ which is part of the treatment 

material. We provide translations of the text and present the exemplary calculation for our treatment 

vignette case. 

 

Input page: 

Figure 1:  

Welcome to the Zukunftsrechner (‘future calculator’) of the Family Life Study! 

In the future calculator, you can easily calculate for your personal situation the long-term financial 
consequences of different employment levels compared to a 100% employment level over your 
entire working life. Enter your details for your personal "future example" and click on "Calculate". 
You can use the future calculator as often as you like over the next 4 weeks. 

At the end of each calculation, you have the option of saving the results to your device. 

Please enter your data for your personal future example here: 

[Participants are asked to enter their marital status and their year of birth] 

Figure 1: Input page first part. 

  



Figure 2:  

[Participants are asked to enter their current yearly gross income, current employment level, and 

the year of birth of their child(ren)] 

Figure 2: Input page second part. 

 

 

 

  



Figure 3:  

Now think about how your planned or desired level of employment will develop throughout your 
working life in the future. 

If you are not planning to change your level of employment, please enter your current employment 
level starting from your current age. 

You can change your employment level up to three times. 

[Participants are asked to enter at least one employment level change with the corresponding age at 
which the change should occur] 

Figure 3: Input page third part. 

Text at the end of the input page: Please click on "Calculate" to compare the financial aspects of the 
future example you have entered with an employment of 100%. 

 

 

 

 

 

 

 

 



Output page: 

Figure 4: 

Dear [Name] 

The following calculations show the financial implications of your future example if you decide to 

work: 

• 40% from the age of 36 until you retire. 

This will be compared to the situation in which you would be working with an employment level of 

100% for your entire working life. 

Figure 4: Introduction output page. 

 

  



Figure 5:  

1. Total income 

The following figure shows you how high the total financial loss would be in your future example 

compared to a full-time job throughout your entire working life. 

[The figure presents the cumulated losses in earnings, promotions, second-pillar pension savings, 

and first-pillar pension savings. Participants may toggle all loss categories across all ages displayed in  

the figure.] 

Figure 5: First output demonstrating the cumulative long-term losses by loss category. 

 

 

  



Figure 6: 

In your future example, the total financial loss amounts to CHF 2.92 million. 

Or to put it differently: with an employment level of 100%, you would accumulate CHF 6.60 million. 

In your future example, your total accumulated income would amount to CHF 3.67 million. 

You would therefore lose 44.33 % of your potential income. 

[The graphic presents the accumulated total earnings and pension savings with an employment level 

of 100% compared to the employment levels input by the participant]  

 

Figure 6: Second output demonstrating the cumulative financial loss. 

 

 

 

 

  



Figure 7: 

2. Monthly retirement pension 

In this graphic, we focus on the effects on your individual monthly retirement pension (AHV (1st 

pillar) + BVG (2nd pillar)) after retirement (independently from your partner). 

In your future example, your monthly retirement pension will be CHF 2,825 (or 43%) lower 

compared to an employment level of 100%. 

[The graphic presents the monthly pension earnings split between AHV (1st pillar) and BVG (2nd 

pillar), for a 100% employment level and employment levels as input by the participant]  

Figure 7: Third output demonstrating the impact on monthly pension payments. 

 

  



Figure 8: 

3. Costs for childcare 

Many families compare the mother's monthly income with the monthly costs of external childcare. 

However, this is only a short-term consideration. But how do the maximum childcare costs you 

would incur in the long term for full-time childcare compare to the total long-term financial losses in 

your future example? 

The maximum childcare costs that would be incurred in your case for external full-time childcare (up 

to the age of 16) amount to CHF 252,700. This corresponds to 9% of the total financial loss in your 

future example. 

[The graphic presents total financial losses due to a lower employment level with additional 

childcare costs incurred for full-time childcare] 

Figure 8: Fourth output comparing total losses to total childcare costs. 

[Participants can print the output to a PDF file and initiate a new projection, changing their entered 

parameters. We further provide a link to the documentation of the central assumptions underlying 

the calculations.] 


